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Demography
STAtTeRehT
M.A. Economics (MAEC-12/16/17)

2nd Year Examination, 2019 (June)
Time : 3 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

A : TE YA ST (80) FHl w1 B S oA (03)
wuel %, @ 9 T H fawfya B ySe wve o
feu T fomga feen & AR & U9 hl ' B
2

SECTION-A/ ©@US-%h )
(Long Answer Type Questions)/( ¥l 3w ated W9 )

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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e @e ‘w H =R (04) < S 9 e S ™
T TEE T & fow 39 (19) o fruifa ©
forenfefll 1 T8 @ Haa I T B IW T B

1. Enumerate in detail theory of optimum population.

foegd &9 H TFwoaH SHEE g @ A it

2. Analyse family planning measures problems and its progress

in India.
g | iR faee fafua o= guened ud suet i
1 &0 TS

3. Write essay on characteristics, causes and effects of

urbanisation. Mention some facts about India's urbanisation.

TS i fowioaet, wror td gqe W fAee fafau)
IRd H TR&W & §F qeA Jasul

4. What is population projection. Mention its types, importance

and methods.

SAEE 9NU 1 @7 IU% UER Ted SR faftEr
AT
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SECTION-B/( @Us-9)
(Short Answer Type Questions)/( TTE I A1 T9T)

Note : Section 'B' contains eight (08) short answer type
questions of eight (08) marks each. Learners are required
to answer any four (04) questions only. (4x8=32)

Me: @oe ‘@ ¥ 38 (08) o ST A wvA A
T ¥, T Y & fau ae (08) e fwifa
g1 foenfefal w1 =99 9 waw =R (04) YA ®
SW [ F

1. Role of Human resources in economic development.

st faee ® A9 gEEE & g

2.  Modern population migration.

AMYFF  SHS TIHT=R

3. Population explosion.
SHen faewel
4. Birth and death rate in different years in India.

qad o fafy= aof ¥ 9 9 99 R

5.  Fertility Rate.

FSHAAT <X

S-105-MAEC-109 3 P.T.O.



6. Physical quality of life index.
SeM w1 wifdes e fagl

7. Population theory of Malthus.

Tegd &1 sHgeEn fagm|

8. Importance of demography.

SHifohen! R Hed|

SECTION-C/( @Ue-1)
(Objective Type Questions)/( Eﬂﬁﬁﬁ T )

Note : Section 'C' contains ten (10) objective type questions
of one (01) mark each. All the questions of this section
are compulsory. (10x1=10)

Me : @ ‘M FH g9 (10) qETS yE Y W T,
T YT B faw TH (01) % Tl 1 =@
e & wefi e siferd €

1. How much percentage of world population inhabit India.

(@ 16.0% (b) 3.28%

() 17.5% (d) None of these.

favd 1 ffFa wfoem SFEen 9rRd § fam w1 @@ €
(37) 16.0% (F) 3.28%

(®) 17.5% () 7 ¥ FE T
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2.  When was the first census held in India ?

(@ 1870 (b) 1871
() 1872 (d) 1874.
IRd H Tecl SHUET %d R T eft?
(31) 1870 (&) 1871
(9) 1872 (%) 1874.

3. During which decade did India see a negative population

growth ?
(a) 1901-11 (b) 1931-41
() 1911-21 (d) 1951-61.

qd o fF9 e A wmutes sWEen gfg d@d @

Toyedt
(&) 1901-11 (&) 1931-41
(®) 1911-21 (%) 1951-61.

4. Which among the following is the least population state in

India ?

(a) Sikkim (b) Goa

(c) Manipur (d) Mizoram.

T 9 RE G T IRG W GaE HH SHHE o 87
(1) Tafenn (|) T

() =i (%) s
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5. Which among the following countries has better gender ratio
than India ?

(2) Bhutan (b) Pakistan

(¢) China (d) Afghanistan.

T W BA W W w1 AU eUd 9Rd 9 St @2
(31) e (9) TIfer&H

(|) == (%) THMTAI

6. Whatis the overall literary rate of India as per 2011 census?
(a) 74.04% (b) 82.14%
(c) 76.06% (d) 65.5%

2011 SFUFT % HER NG § Hol HERdl <L ©
(1) 74.04% (A1) 82.14%

(F) 76.06% (R) 65.5%

7. Who of the following introduced the concept of Human
Development?
(a) Paul Krugman (b) Dr. Mahbub-ul-Haq
(c) Prof. Amartya Sen (d) Ratzel.

T 9 fRgd AFg faemm™ i A99Ron &l e fean?
(1) T A (9) T Wegd So T
(F) o o oA (%) Y@l
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8.  Which of the following are pull factors for majority of rural
migrants to urban area ?

p—

Betler opportunities
2. Availability of regular work
3. Education

4.  Sources of entertainment.
(@ Only 1, 2and3

(b) Only 1, 2 and 4

(¢) Only 3 and 4

(d 1,2,3and4.

T 9 TR TEE # fou T 4 %A 9 e #
fern fa=ma wRo 82

1. SER ST

2. frafqa @ w1 U
3. feren

4. TARSH &% WA

(1) faw 1, 2 @R 3

(@) faw 1, 2 R 4

(@) fa% 3 R 4

() 1, 2, 3 N 4
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9. World development report has projected that population of
India will touch 1350 million by

(@ 2020 (b) 2025
(c) 2030 (d) 2035.

fovg fawm fme d§ gmg =1 sA9@n 1350 fafass
Ty & ®

(1) 2020 Tk (9) 2025 9

(¥) 2030 Tk (%) 2035 Tl

10. Which Indian state has the largest urban population ?

(a) Maharashtra (b) West Bengal

(¢) Kerala d) Goa.

YA & HH G T H GO AR TRE G ©?
(37) e () ufeem e

(W) (%) el
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